T3U-J
F{TMRREE (EPD)
BES : JR-AJ-23020E

gg

HREIRER

@ JFE 27w stan

SUMPORIESANNITIS A
—MRAEEAT T T TR EHEE
FREPFABXABE1-14-8
KANDA SQUARE GATE
https.//ecoleaf-label.jp

B B4 (iea#)
Wire Rod for Construction
(Products in Sendai)

JFE  JFE Steel Corporation
BER{
1t
BE I REERE
OIE=#A&RL m hf§ES

FUERRE (RAMBIOFRE. FMRIOEE, BaDEE)
RURRRE

HROBN, FEMER-FHT
HiEHA b ALERISM
FRANE
SS. SWRM, SWRH. SWRS. SWRCH
FAAR © A4
FEHA(Z (BAImm)
@5.5~p18

BW\WSHE %
JFERF—ILKRR St AREREBEED
https://www.jfe-steel.co.jp

SERB8s
EHAPCRES PA-180000-AJ-06

JR-AJ-23020E

PCR#%
2FA
BErS1EE
BREES T

ARG (FhrRT)
202414 15H
2023%11H21H
Bl FBIAREE T T0
BRIIES JV-AJ-23020
REEEHIE 2028411820
PCRLE1—-0D3RHE
EHRSE 20234 58 10H
ZER ¥ T
FEXF
B=HIREEE*
SNEMREES
ISO140258 KUIS021930( D> EABER VT —4
DIRIZ U TEAREE
OPEB m SHED

* AT LRI R R S L BEANDIRIDES(E. S AT AR 217D
JEEE DRI Z ST H.

PlfE  S0E

TEL: 03-3597-3111

Ei%&ES  JR-AJ-23020E



Ia)-J

H

FATIRIRES
BES : JR-AJ-23020E

(EPD)

SUMPOIBIESAII OIS A

—RRRAEAT R T T I IVEEHHEME

FRETRBXAEE1-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

OS54 TV1 V)&l R

AIER BEDH %
SUEZE) IPCC 2013 GWP 100a 1.0E+03| kg-CO2eq
[izdea]e 5.8E-01| kg-SO2eq
EXREL 3.3E-03|kg-P0O,>eq
KXO~DEET
PIER B B A OFEMHDRE | ORMHOEE ORMODERE | GHIEXE
SURZE) IPCC 2013 GWP 100a | kg-COz2eq | 1.0E+03 2.0E+02 3.5E+01 7.6E+02 3.3E+02
FY B IE kg-CFC-11eq| 2.2E-07 1.6E-07 2.9E-10 5.7E-08 6.0E-08
[ie|d kg-SO2eq | 5.8E-01 1.4E-01 1.2E-01 3.2E-01 5.1E-01
HAEEAFZAH > S kg-C,Hseq| 1.6E-02 1.3E-03 3.5E-04 1.4E-02 7.1E-02
ExE(L kg-PO,”eq| 3.3E-03 4.9E-06 2.5E-13 3.3E-03 6.1E-03
) EEAE MBI OYIE (CBEE I S 4Eh%h
HE ==1v) e - ME (EREkD ==1v)
JEBATIREEIR 2.3E+01 kg #k[Fe] 84.2 wt%
IEBERETRILF— 1.6E+04 MJ RZR[C] 1.10 wt%
BAETRER 1.3E+01 kg TAF[Si] 3.00 wt%
BEAgEIRILF— 2.9E+02 MJ N> 7> [Mn] 3.00 wt%
RIKDBE 1.4E+00 m3 > [P] 0.15 wt%
FRE[S] 0.45 wt%
#F[Cu] 0.60 wt%
Zw)L[Ni] 4.00 wt%
20A[Cr] 2.50 wt%
EUTIF>[Mo] 1.00 wt%
@ FEZEYIBEBEE
HE =1y
BEREY 0.0E+00 kg
BERZEY 8.3E-01 kg

KSATHADICHB T BREMEERUTNET,




A, I11)-J SUMPORIESAILITIS A
@0 ) —BAEEANT 2T T T UIE

A SATIRIREE (EPD) KRBT RORXAWE1-14-8
et KANDA SQUARE GATE

Si&S 1 JR-AJ-23020E https://ecoleaf-label jo

OHEERRICET SENMEH

- EHERZE E UT, JISQ0915(CE D EFMRIDU Y1 U)LRZFHL. LRO®ICTDEZTEH U,

-FEICERLZUS A DILEIZIZ% (BHEFIISQ20915(CHEL), 2018FEDERNT—4 (HiH 1 BARKIHES,
RS, AF—ILEUYADILRR) ZER)

- BAOREIE [EH, —xEREEE 10T, 2014FE | ZFERL,

- OMRIRUMEICEET DIBEATI (CDWVT. #KEIME. MR ETZDHAENEDE LIRMED S EERADEDZERT .

- LRT—H (32021 FEDT —F=FEA L.

©-1. € DMDRIEREGEH

ISO1400188ETIH CTEE L TS,
Mla®Err] BYSEAHR : 20024658230, BYS (Bi%) &5 : E458

@ S =EMNES B9 A5 ER
IHH CAS No. ERE

$f [Cu] 7440-50-8 FSBTLFEE

XA [Mn] 7439-96-5 FEEZREEE. (CFERIHICEEIREEE

—w4 )L [Ni] 7440-02-0 BETEFHEE. (CEEIERICESIREEE

20/ [Cr] 7440-47-3 FEEZRFEEE. (CEERIHICEEIREEE

EUTIF> [Mo] 7439-98-7 BETEFmEEL. (CEYE RRICESIREEEL

#h [Pb] 7439-92-1 BEEZREEE. (CEERIHICEEIREEE

IDEA v2.1.3 ZBR U, Fle. AOSYITREN (ROSvTLCD) (JEBEAEHFRES  JP-AJ-0001&2FERA U,

® %

0 —FHEEDEIFZ., PCREKXUERE - ESREZSB UL TIIZE0,
OLLRIC DT (E. BE - EEMRCHRE SNIEERHZ R UIEBEIC UNRHSNE R A,
(2885 URL : https://ecoleaf-label.jp/regulation/)
Eix&FES : JR-AJ-23020E



